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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given

instructions.
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Section—-A 4%x4=16

(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 4 marks.
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Write Paterno-Buchi reaction.

Yori-a sfufwa fafe)

Why pyridine is more basic than pyrrole ?
Explain.
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What i1s chemical shift ?

TaEtE gfe fFd #ed € 2

Draw the Haworth projection formula of

D-fructose.
D-FRE & TEY 9T 5w aE|
Explain IPSO attack.
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(vi) Give the product of the following reaction :

frafafea sifufean & scae sasT .

| ” +CHCl; + KOH— A
(Product)

N

|
H

(vit) Give R or S configuration of given

molecules :
fe U difent @1 R = S fa=g awEu

CH,OH
|

(@) H—C—CH;
|

C,Hs

CH,

|
H—C—OH

(b) |

H—C—CCl

|

CH,

(viii) Write the difference between configuration

and conformation.
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Section-B 4%x16=64

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries

16 marks.
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. Discuss optical activity in molecules having no

chiral carbon.
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. Explain Jablonski diagram showing different ways

of energy loss.
Fer &g ot fafim fafeddl w1 Saeient fos g7 et
Y 9 THSET |

MSCCH-02 / 7 (4) 781



4. Explain the following, why :

(i) Electrophilic substitution in pyrrole take place
at o-position ?

(i1) The aromatic characteristic is more in
Thiophene ?

frfafea &1 gasmy, F :
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. Calculate value of A, for the following dienes

by Woodward-Fieser rule :

frefafed e &1 geae-TheR =W g/ A,
aH aiekfed wifsT .
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(ii)
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. Write short notes on the following :

(@) Cope re-arrangement

(b) Pinacol-Pinacolone re-arrangement
Frefafen w wfyw fewforel fafe .

(31) U A=

() o faamRey qAfa=rd

. What are Carbenes ? Discuss their structure and

generation.
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. Write short notes on the following :

(@) Saytzeff rule

(b) Phase transfer catalyst
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9. Explain the regioselectivity of electrophilic

addition reaction.
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